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Climb the Ladder

The histogram shows the amount of customers’ cell phone bills.  Use the graph to answer 
the questions.

1.  How many people were included in this survey?
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2.  What is the interval width?
3.  How many people’s cell phone bills were 

     between $36 and $48?
4.  If a person’s cell phone bill came to $52, which interval

     should they be tallied in?
5.   If there were 5,000 people with cell phones in a town, about how many would you predict have cell phone bills between $44 and $48?
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Climb the Ladder

People at the movie theater were asked what year they were born.  Use the stem-and-leaf 
plot to answer the questions.

1.  How many people were surveyed?

2.  What percent of people were born before the year 1970?

	Year You Were Born?

	193
	7   

	194
	

	195
	0   8

	196
	2   4   6   7

	197
	2   3   4   4   6   9

	198
	0   4   6   6   8

	199
	1   8

	Key:   195 | 0 = 1950


3.  If there were 150 people at the theater that day, how many would 

     you expect were born in 1980 or later?

4.  What was the median year of birth of those surveyed?
5.  What is the range of the data?
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Climb the Ladder

The box-and-whisker plot shows the ages of registered drivers in a city.

1.  What is the approximate median driver’s age?

2.  What percent of drivers in this town are 

     over 28 years old?
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3.  Twenty-five percent of drivers are older than
     _____ years old.

4.  If there are 4,400 people in the city, how many are between 28 
     and 48 years old?

5.  What is the range of driver’s ages in the city?
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The parallel box-and-whisker plot shows the test scores of two different classes.

1.  What is the range of the scores in Period 3?

2.  What is the range of the scores in Period 6?

3.  Which class had the higher Q1?  Which had the higher Q3?


4.  Which class would you say performed better on the test?  Explain.
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